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=727.68 Jijt (243> (ISR, THEEERAE 725 2 730 Z I8 WA IR
(4) FHEW= (1000+4100) /495=2.22 4F (2 43)
(5) BN NPV KRT%, Frelifgst. (243)
2.
(1) R RMME=24F /C 24

=2x360000x200/9 =4000 2T (4 4})
(2) SRR E=360000/4000=90 X (3 43)
(3) MXBBEA=V2AFC 24

=2x360000x 200 x 9 =36000 76 (3 4}

(4) SRA=RIE A+ B A+ A (2 53
=360000X 76+ (6000/2) X9+ (360000/6000) X200

=27399000 JC (4 %)

SRERE (RRESE 1 /DR, 3530 4, THBHERTHEE, &R EERNRERAL/D
o HEEBARMHNALE EEE. D
Rw: BBBEATAN, EFMEN, THEERIEFRGIZE TR
(1) (EBIT-Ii(1-T)/N;= (EBIT-L)(1-T)/N2 (2 %3
(EBIT-16) (1-25%)/25= (EBIT-36) (1-25%) /20 (2 4})
fi#453: EBIT=116 JiJt (24}
(2) EPS;=EPSy= (116-16) (1-25%) /25=3 ju/flit (4 4
(3) EBIT=1000 (1-60%) -200=200 /it (4 43)
(4) EPSi= (200-16) (1-25%) /25=5.52 76/ (3 4}
EPS,= (200-36) (1-25%) /20=6.15 7t/ (3 4)
(5) M SATHF 2 B=EBET/ (EBET-I) (24})
=200/ (200-36) =1.22 f% (2 4



(6)F BRI A5 B=EBIT/ (2 43)
=200/36=5.56 15 (2 7
(7) A~ EBIT, KT EBIT), FrUANKHEMERTE . Q5

E_RBS: 2iHFERM

—. BUUEEE (KRS 20 /MR, F/EE 245y, 3t 40 4F. FES/NMNES KT/ E L
B, BH—PMEFRIER. D

I.B 2.A 3.C 4 A 5. B

6.D 7.D 8. D 9. A 10. B

11.B 12.D 13.B 14.D 15 C

6. D 17.C 18. C 19.B 20. D

= BUGEEE (RAEIL 10 ME, B35, it 30 5. BMEREERT, AR
PEAN RN ERER, $iE. Dk, HEHIED

1. ABC 2. BCD 3. BD 4. BCD 5. BC

6. AD 7. AD 8. AB 9. AD 10. BCD

=, KW (RREIE 10 NE, BAME 249, #5204, EFRRIY ”, SRERICx, )
1.V 2.x 3.4 4.4 5 x
6. x 7. x 8 x 9. x 10.

. WEEEB (3t2 /M8, $ite0 . B (—) B204, F (=) H40 5. )
(—) THEM
1. TRM#%E4 =48 000+250 000=298 000 (4 43)
2. BIIKEK =120 000+20000=140 000 (4 53)
3. RifFIKEK =50 000+70 000+14 000=134 000 (4 43
4. 17 & =200 000+10 000+15 000+180 000=405 000 (4 43)
5. [HE T =660 000-170 000=490 000 (4 43
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1.l HRATAEK

BE: SRUCHEA
2. JEMREL — FIAR

300 000
300 000 (4 43)
50 000

PR — NACHEMER CGRITRAD 8 500

B BT —AKHL A 7]

(1) f5: HRATA
BE: EEFIRA

58 500 (4 43)

87750
75 000

NEAZF B — A HAfE AL (RS IRLD) 12 750 (2 43)

(2) fif: EEWSG A
BE: PEAFR A
4. flF: [E B

60 000
60 000 (2 %)
205 000

MNASBLF: — MASEERL IR 34 000

BE: AT

239000 (4 %)

5. ff: AFERA—ATFER 60000
—B ™ 50000

ilit 2% H 6 000

&2 4000

BE: JRAR—M AR
6. fi: fhili& P H
B
5. RiHTIH
7. A AEFERA— A PR
— B ™
B il 9
8. fif: W% H
B RATFLE

120 000 (4 43

4000

7000

11000 C 443)
10 000

6 000

16 000 C 4 %)
1500

1500 C 473
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(D fH:

(2) fi:

10.

(1) fl:

(2) ft:

o S U 72 5 5 —— 7 b PR ] 52 0% PR A RS
Kit4rH

BY: [ E B

FoAt N SGR— PR 22 7]

EMLA

40 000
10 000
50000 (2
30 000

10 000

)

DR AR ACHIA =t — A A B 2 B B 40 000 (2 53)

EEAS N
FoAtbalk 55 IS
ENL AN
B AAERE
AR
B FES A
Fofihll 25 A
o <5 2% B
(gt gt
I 55 9%
HERH

1 550 000
56 000
5000

1611000 (274

1231 500
1 030 000
32000

20 000

84 000

5500

60 000 (2 4})
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